* %

Welk getal ontbreekt t/m 2.000?

Optellen

Oefening 1 Oefening 2
1. 842 + = 1.393 1. 910 + = 1.189
2. T42 + = 1.345 2. 382 + = 642
3. 739 + = 1.306 3. 818 + = 1.057
4. 686 + = 1.303 4. 798 + = 1.473
5 719 + = 1.151 5. 422 + = 816
6. 614 + = 1.028 6. 592 + = 1.168
7. 430 + = 751 7. 984 + = 1.640
e . o e . o
0. o: + = 1.548 o a2 + = 1.196
0. ess + = 1.180 0. 9% + = 1.706
Oefening 3 Oefening 4
1. 957 + = 1.907 1. 855 + = 1.578
2. 821 + = 1.202 2. 349 + = 644
3. 675 + = 1.189 3. 791 + = 1.266
4. 978 + = 1.268 4. 806 + = 1.271
5 935 + = 1441 5 856 + = 1.218
6. 783 + = 1.494 6. 438 + = 662
7. 829 + = 1.518 7. 437 + = 650
8. 782 + = 1.019 8. 365 + = 708
9. 744 + = 1.003 9. 484 + = 784
0. 48 + = 1.209 0. 793 + = 1.325
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Welk getal ontbreekt t/m 2.000? | ANTWOORDEN

Optellen

Oefening 1 Oefening 2
1. 842 + 551 = 1.393 1. 910 + 279 = 1.189
o 603 ............. e . 260 ............ o
s o139+ 567 ------------- = 1.306 s s o+ 239 ------------- = 1.057
4. 686 + 6I7 -------------- = 1.303 0708+ 675 ------------- = 1.473
5 719 + 432 = 1.151 5. 422 + 394 = 816
6. 614 + Li4 = 1.028 6. 592 + 576 = 1.168
7. 430 + 32| = 751 7. 984 + 656 = 1.640
8. 945 + 829 = 1.774 8. 417 + 397 = 814
9. 932 + 616 = 1.548 9. 942 + 254 = 1.196
10. 659 + 52| = 1.180 10, 9% + 710 = 1.706
Oefening 3 Oefening 4
1. 957 + 950 = 1.907 1. 855 + 723 = 1.578
. 38' .............. o e 295 ............. o
e 5"' .............. e . ws ............. e
W o8+ 290 ------------ = 1.268 . 806 + h65 ------------- = 1.271
5. 935 + 506 = 1441 5. 856 + 362 = 1.218
6. 783 + 7l = 1.494 6. 438 + 224 = 662
7. 829 + 689 = 1.518 7. 437 + 213 = 650
8. 782 + 237 = 1.019 8. 365 + 343 = 708
9. 744 + 259 = 1.003 9. 484 + 300 = 784
10, 748 + 461 = 1.209 100 793 + 532 = 1.325
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